Log of Summer Math Practice
Name of student: Current math level: Algebra
Instructions for Students:
Complete 2-3 worksheets per week

Show all your work when completing the worksheets and attach your work to the
packets before turning them in.

N —

3. All worksheets must be graded using the answer key provided.
4. Re- work and do corrections on the problems you miss initially.
5. Youmust have grades and parent’s signature on the cover page of the packet.
6. Turn in the completed packet to your math teacher during the first week of school.
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Page Grade Work shown/ Parent Signature
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dates/Dates out of possible Yes/No
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We encourage you to complete 3 worksheets per week. Have fun!

Thank you for practicing your math skills over summer. We are proud of you. Great job!




Name

Real Numbers

Order of Operations with Real Numbers

Perform the indicated operations using order of opeatiohs rule.

1.

9.

4e3+2=-12+2=-14

-25+fs+41g

wino

(-15 — 4)

. o1 _oel
'87.‘24'5 ) 25+5
-12-[(-15+4)+(6+7)+-3]

@3 +4l):6--12

(80 +4) + 25
-12 + 35

3[-3 (2-10) - 5]

2e3[5+ (4+2)]

40 = (3 3) - (36 +0)] + -81
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Name

Open Sentences

v

Equations

5. -7533+13=¢

15

+25 =f

ol

6. 1

(&)

7. 4361-16.8=n

10. ==—*

11.

12.

13.

14.

434 +2.22 +3=q
2e5-6=d

14278-65=2
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Equations

Name
Evaluating Expressions

Evaluate the following if, w= 1 ,x=3,andy=-4

1. W(XW + Xy) 8. 3w+4(x-Y)
2. 3w-—4x 9. w(x+y)
3. 5(w-2y) 10. WX + X — 6XxY
4. y(w+7) 11. wx(3w + 2y — 5)
5. 8x+-13x 12. 6w —(xy + 3)
6. 6(W+-y) 13. 4w —7X+ 3y —2W
7. | 5w(2y + 3x) 14. 12y(§y + 2W) + -2X

©1995 Kelley Wingate Pubilications, Inc. o1 CD-3731
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Name

Equations

Solving Equations Using the Distributive Property

Solve each equation for the given variable.

3(c-4) =15
3c-12=15
3c-12+12=15+12

2(n+6)=80

1. 3(C+4)=-7 8.
2. 35=-7(z+ 3) 9. 3(8-6n) =41
3. 7(t-7)=-14 10. 7(2x-3) + 3 = 24
4, 3o=5(g—3) 11. 2(9x —8) =-22
| 5. 16(x - 3) =-33 12. -36=2(x+4)
6. 36=6(x~5) 13. -4(6+n)+3 =238
7. 5(3-%)=8 14. -28=5(t—4)
©1995 Kelley Wingate Publications, inc. /4 CD-3731




Name . Equations

_—___—___——_—s__———_———'—————————-———_———__

- Solving Equations

3X+5=4x+6
3X—4X+5=4x—-4x+6

Solve each equation for the given variable.

1. 3m-8=5m+38 8. 23b+9=4b +66
2. -t+9=1t+5 9. “4g+12=g+2
3. 7y—-7=5y+13 10. -8t=27 +1t

4., 4h+10=2h-22 11. 18y-26=7y +22
5 -r=-3=1-3r 12. 4n—-6=6n+ 14
6./ 17+p=7p—13 13. e+8=2e—-12
7. 4x—=7 =2X+7 14. QW +6=6w—-15

©1995 Kelley Wingate Publications, Inc. 75 CD-3731
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Name

Equations

Solving equation / Mixed Practice

Solve each equation for the given variable.

1. -j+5=j-7 10. 3h+5=2h-9
2. Ow+9=3w-15 11. 6u=21-u

3. 3g+12=6g-3 12. 12k +13 =8k + 33

4. 45=-9(e +8) 13. 7(9-6j) = -63

5. 4(y-8)=-12 14. -6(36-10b) + 8 = 32
6. 24=4(-g-7) 15. 9(8c-9) = -351

7. 11g=121 16. g5 =22

8. -13k =52 17. §h=-20

9. 35=-7t ' 18. -5=-§-

©1995 Kelley Wingate Publications, Inc. 76 CD-3731



Name

Problem Solving
“Writing Algebraic Expressions
Three times a number decreased by 7 3x—=7
A number increased by 9 X +9
The number divided by 3 b+3or %
The product of 3 and 8 38

1. Eleven times the sum of a number and five times the number
5 Seven times the sum of twice a number and sixteen
3. Eleven times a number decreased by three
4. Two-fifths of a number minus seven
5. Three times the difference between x and 5
6. Five times a number plus six times the number
7 A number increased by three times the number
8. The quotient of a number and five decreased by two
9. One-third times a number increased by six

10. Four times the sum of a number and eight

11. Five increased by seven times a number

12. The product of six and a number increased by six

©1995 Kelley Wingate Publications, Inc. 77 CD-3731



Name

Inequalities
Solving Inequalities with Addition and Subtraction

| )
1. 1>3-d ‘} | 1 I | | | l | | >
-5 -4 -3 -2 -1 0 1 2 3 4 5

| | | |
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6. 2.3>2s+371 | i ! ! [ | I f | ]
-5 -4 -3 -2 -1 0 1 2 3 4 5
| | j
7 dﬁ%Z% - l ! ! ! ! ! | n
5 4 3 2 -1 0 1 2 3 4
8. 7+n<+8 lz : | !l l T‘* } |l : i)
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Name Inequalities
Solving Inequalities with Multiplication and Division

| | |
-%xz-g 4“'_;_{” - ! ! —
4 o 1 2 8
o.._ -2( ) .
| | | ] |
i |I 9 | I | i i'
x<-3 -5 4 3 =2 -1 0o 1 2 3

Change the s:gn when multlplymg or dlwdlng by a negatlve number

 J

| qox>04 Tt T T 1 —

0"—'-._...

5 -4 3 =2 -1 0 1 2 3 4
2, -10ns-30‘1' l| 'u 'l '\ } 't 1 ' ‘I 1 ll"
-5 -4 -3 -2 -1 0 1 2 3 4 5

}

A

|
3. 1.8x>-5.2" |I | ll | l | : i
-5

i ax<s +—t+H—r—+—t+—+—t—t—
5 4 3 -2 -1 0 1 2 3 4

ol —
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NAME CLASS DATE

EPractice Masters Level B
4 54 The Slope-intercept Form

Identify the x- and y-intercepts of each line.

2
TLy=3x+1__ 2.y=gx+6_. 3y=—-x—3

Graph each equation by using the slope and y-intercept.

3 _ 1
4.y=—-5x+4 5.y—,gx—2
54 y

A A

R
B

7

HONY G Oh

AR IR N .

SIS

@ G

Write an equation in slope-intercept form for the line that
contains each pair of points.

6. (4) 2)) (_6) 7) 7. (6: —9)) (37 —5) 8. (_9) - 1)) (3) 7)

Write an equation in slope-intercept form for the line that
fits each description below.

9. crosses the y-axis at 3 and has a slope of —%

10. contains the origin and has a slope of 7

11. crosses the y-axis at —3 and has a slope of 6

"pan1asal sIYBL )y "UOISUIAA pue Leyauly ‘JoH Aq ® ybiiAdon

Without graphing, describe what the graph of each equation
looks like. Include information about the slope and y-intercept.

12y = —4x + 7

4
13.y=§x—3

86 Practice Workbook Algebra 1
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NAME CLASS DATE

Practice Masters Level B

Find the slope of each line.

2
1Ly=2x-12 2.y=—§x+1
4
3.10x + 5y = —15 4.Ex— l6y = 30

Find the slope of a line that is perpendicular to the given line.

2
52x+ 12 =y 6.y=—-x—38

5

3
7.6x—2y=8 8.—Zx-12y=9

Match each equation with the appropriate description.

9. y=4x+2 a. parallel to 6x + y = 2

0. y=—6x+7 b.paralleltoy=ix+21
11.___y=—%x—9 c.parallelto y = —3x + 8

2. y=ix—3 d. perpendicular to y = 2x + 3
B 6x+2y=10 e. perpendicular to y = —ix+8

Write an equation in point-siope form, if possible, for the line that
fits the description given,

14. contains the point (2, 5) and is parallel to y = 3x + 8

1
15. contains the point (4, 10) and is perpendicular to y = P 5

16. contains the point (1, 9) and is parallel to x = 8

) 3
17. contains the point (— 3, - 8) and is perpendicular to y = 2 + 6

92 Practice Workbook
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ST

‘PeAlBsel s1YBLL ||y "uolsUIpn pu'e Heyauly o4 Aq @ 1yBuAdon

AR




‘penlasal sybul ||y "UOISUIM pue ueyasuly 4oH AQ @ 1yBuAdon

NAME

CLASS DATE

Practice Masters Level B

/.2 The Substitution Method

Graph each system'and estimate the solution. Then use the
substitution method to get an exact solution.

y=—x=
y
A
~ X
b ) 4
44
2y— 6x = 10
y==—x—6
y

| A

be)
=

4
T

Y

5{4x+16y=2

Copyright © by Holt, Rinehart and Winston. All rights reserved.

) x—2y=4
18y +24x =5

y
A

d

3.
'z

Solve by using substitution, and check your answers.

6{2x+3y=24

2x = 4y y+ 7x = 46
. 8y —x=— 8. Ix—4y=—1
"|5x — y =59 Iy + 2 = 13x
9. 6x + 3y = -2 10 7x =y =10
9y + 10x = =2 x—2y—6
. 10x — 14y = 62 12 y — 6x =22
—7—y=—-2x dy+17=—11x
13 0.5x — 2y = 14, I+ 9y =9
13y +x= 2y = 14x + 20
1 _1
! R 4 6 |7y — 15x =22
v 12y - 12x = —1 3x+9% =6
Algebra 1

Practice Masters Levels A, B, and C
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) Practice Masters Level B

' 7.3 The Elimination Method

Decide which is the best method for solving each system, and
explain your decision.

. 3x - 8y =21
7x+ 8y =-12

5 y=6x—1
13y +5x=12

Ly +ax=1
12y - 3x= -8

4 3.21x — 9.7y = 1.01
5.53x + 2.09y = 0.7

Solve each system by elimination, and check your solution.

5 3x —3y=12 6 1lm+9n = -24
12x+ 15y =3 "|4m — 18n = —30
;134 +4b=17 g l/Uu—3v=1
l—29+ 6b=-20 |3u—3v= -3
9 —x+ 12y = 16 10 29 + 5w =18
T|4x — 3y =26 "13g — 4w = —19
11 3h—-2g=7 12 | 7% — 4y =23
|7g + 5k = 84 |=3x+5y=0

Solve each system of equations by using any method.

14, _ .
1317 =5x+4 )3 517
| 7x—y=0 “|—3p —0.6g = —-30
15.1 ~2m— 8= —10n 71x+35y—19
87+ 5 = 13m 1.5y —3.21x = §
17 2c=8d=-10 18, 7y —x=12
"|15d + 7¢ = 31 10x = 8y + 4
k+p=0 13v — 2r = —10
19'{11k —2p = -39 20- {6v+ 5r=25
91 4x + 9y = 11 22 17m — 3 = —41n
18y —6x=5 —n+5m=27
116 Practice Masters Levels A, B, and C
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NAME __ CLASS DATE
3 Practice Masters Level A
7.5 Systems of Inequalities
Graph each inequaiity. Determine if the given point is a solution.
/
1.y>3x+ 2;(3,16) 2y<-—x+4(—1,0) 3.y<2x+ 1;(4,—4)
y y be
; 4“ 41 41\
- x - > X -« x
i -1 - ) =1 - ; oy Py
ik 2 2 2
P 45 4 4f
|
ii 4.y = —4x; (3, —4) 5.y < —2x + 5;(0,0) 6.y=4x — 3;(—1,1)
I
'I @ 7 y y
A A A
i e 4 T
§ < > X <t > X < > X
| 5 —4 i > |4 —4 i— 4 i 4
: % 4\7 4\7 4V
! 5
; < Solve by graphing.
1 s Jly<3x+8 g |7 >4x—7 o |7 =1
: £ ly>-—6x—3 ly<1iz r<2-=x
| &
> 2
; 3
7 )
i b Y y ¥
E £ 4“ ZC‘L ) 41\
3 X <& P X X
—4 i— 4 —20: —i10 10 ¢ 20 —4 i— 4
) % 20y 4
Algebra 1 Practice Masters Levels A, B, and C 121

-3 Tpom




-paA1asal SIYBU [ “UOISUIM PUE MEUSULY 3UH "M @ sy

Copyright © by Holt, Rinehart and Winston. All rights reserved.

NAME CLASS DATE

Practice Masters Level A

)

8.1 Laws of Exponents: Multiplying Monomials

For Exercises 1-8, identify the base and the exponent.

1.6 2. 4° 3. 8 4.10° !
5. 5° 6. 27 72122 820!
Evaluate.

9.3° .15 11,9 12. 4°
13. 72 9.10° 15,24 1. 82

Simplify each product. Leave the product in exponent form.

1.5.5> _ 18.8*-8" ____ 19.9°.9% __ 20.10°-10°
2.7477 22 10°-10° 23 2%.2% 2447 .45
25.6>:6 26 10%-107 27.3°.3°> ___ 2g5%.5%
29.10°-10* 30 6%-6" ________ 31 T7F.75 32 45.45

Simplify each product.
33. (9x%)(3x°) 34. (5x*)(2x%”)

35. (3y%)(4x°y°) 36. (7a’)(—6a°b’)

37. (=5¢7)(22d?) 38. (91)(487%)

39. (—a’)(4a?) 40. (8x7) (—3y526)

1. (7n°) (—m®n®) 2. (6f*)(5f%¢%)

43. (—127°)(2r%s*) aa. (3a°)(5b%c®)

a5. (—x*)(49°) as. (91°)(—4H*i°)

47. (10w?) (3uV°) 48. (6V%)(—4a’b*)

a9. (—55%)(65°1%) 50. (8p°)(3n" ")

51. (3d*¢?)(5d°¢°) 52. (2x4y2)(—7x3y5)
53. (7a°c”)(8b°%7) 54. (4775%)(=57"5°)

Algebra 1 Practice Masters Levels A, B, and C
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: Practice Masters Level B

8.2 Laws of Exponents: Powers and Products

Simplify and find the value of each expression when possible.

2. (—r)? 3. (—1)°>" [
4. (—gH* 5. —(3?) 6. (—7h)*
7. —(W?)? 8. (—82%)? 9. —(—4%)?
10. —10 1. (—4%° 2. (—p°)®
Evaluate each monomial for a = —2, b = 3, and ¢ = —5.
13. a* 14. (a*c)® 15. a*c*
16. —a” 17. (ac)* 18. a’b°
19, —5¢° 20. (bc)? 21. (abc)®
22. (2ca?)? 23. (—a®)? 24. (ab)°

Simplify each expression.

25. (—y4x3 P

21. (36 (—4bc?)?

29. (—13h°p®)?

31. (xp) (xp)? (xp)®

33. (4cd®)® (—52d)?

35. (9a°b)* (—3ab)’

37. (—4a)* (ab®)"

39. (30%)* (—b)®

41. (4gh>)* (—hk®)’

43. (_1)794a8

45. (a®bc®)? (—cd)?

47. (__a)200 (_b)201

26. (g°)° (&)°

28. (—6x°y°)* (xp)*

30. (—5¢%°)°

32. 2m°)? (=3mn)°

3. (12gh%)(gh)®
36. 8(—54°)°

38. (7)? (x%°)*

40. —15(ut®)®

2. (=3n°p’)® (np)?

4. (—cd)® (Pd)*

46. (_3m2n6)5 (n7p3)6

48. ('V4W8)2 (_W3u5)2

Algebra 1

Practice Masters Levels A, B, and C
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i\ Practice Masters Level B

»j 8.3 Laws of Exponents: Dividing Monomials

Simplify each expression. Assume that the conditions of the
Quotient-of-Powers Property are met.

ol (5 (28]

2a* 14uv*\° - gh4b 7
(3177) *\ 7 “\gh
4

5m*\??
() o
3\3 7x2 2 322 3v
(Z—VZ—) ".(_._m;s) (_Zz

—3uy (xp)*Y
13. (m’) 14. (x3y2 ) 15.

Evaluate each quotient given a = 3, b = —4, and ¢ = 6.

16 b—s 17 Cbe 18 —b4—c
b “ab’c b
o b " 2abc ” (abc)

"ab*c " 4a’b b’
22 b’ 23 ——Cz(zab)3 24 ab ’
C b T od ¢

Find each quotient. Assume that the conditions of the
Quotient-of-Powers Property are met.

’5. 65b* ”. —13xy°
13p* 169x7y°

» 6a’b*c »s ~5z'1
3a'0°F " 25y7°

134 Practice Masters Levels A, B, and C
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% Practice Masters Level B
9.3 Multiplying Binomials

Use the Distributive Property to find each product.

1.x+y)2x+y) 2. (a — 3b)(7a — 5b)
3.(—5d + ¢)(—6d — ¢) 4. (4n* — 3m)(4n* + 3m)
5. (s> — 46)(s° + 4¢) 6. (W' — w)(W* + w)

Use the FOIL method to find each product.
7. (6e — 2)(8e + 3g)

8. (& — 4d)(2d* — 5d)

.
fodfor

1. (q3 + 2q)(q2 - 7q)

12. (8 — 58%)(r* — ¢t)

13. (2.3k% + 10)(1.8k* — 4)

14. Find the area, in terms of d, of a square tabletop whose sides are
4d — 6 units long.

15. Find the area, in terms of d, of a rectangular lawn whose width
measures 2d + 5 units long and whose length measures 84 — 3

units long.
16. Using the diagram of the rectangular frame, find an @ 287%10
expression, in terms of a, for the area of the shaded S —— 3'['2 o
region.
Aigebra 1 Practice Masters Levels A, B, and C 155
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\ Practice Masters Level A

! / 9.6 Factoring Special Polynomials
Factor each polynomial by using the rule for factoring
a perfect-square trinomial.
1.%° + 2xy + 2. = 2cd+ d°
3.~ 6y+9 4.a° + 16a + 64
5.x° — 14x + 49 6.7 +6r+9
7.5* + 18s + 81 8.25 + 10t + ¢
Factor by using the rule for factoring the difference of two squares.
9. w* — x 10. 9 — &2
11.25 — K 12. 4% — 49¢°
13.16y” — 817° 14. 64s° — 25
P 25— 36 16.1004% — 9
H Factor each polynomial compietely.
E 17.x* — 8x + 16 18.x° — 4
; 19. 36¢” — 25d4° 20. 25¢" — 10c + 1
% 21.100s° — 60s + 9 22. ¢ — 24 + 144
E 23. 64q° — 4977 24.100 — 94°
E’ 25.4 — 125 + 95° 26. 814" — 144p*
g 27.364° — 129 + 1 28.9y° — 12y + 4
§ 29. 49 + 20q + 25 30. 121x* — 81y7
31. 64y — 25x7 32.49y" + 56y + 16
| 33. 255" — 305 + 9 34. X°y* — Zw?
Aigebra 1 Practice Masters Levels A, B, and C 163
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10.2 Solving Equations by Using Square Roots

Find each positive square root. Round answers to the nearest
hundredth when necessary.

.VI96 o 2.NV100 0 3.NV225 _ 4.V96
5.V625 e WVI125____ 7.V45 ____ 8.V30

Solve each equation. Round answers to the nearest hundredth
when necessary.

9.2 = 36 10. x*> = 49
1.x° = 144 12. x> = 289
13. 2% = 20 14. x* = 400
15. x> = 600 16. x> = 32

9 1
1.8 = — _ 18.x7 = —

16 25

64 81
19. x* = — 20. x* = ——

121 256
21.3x% = 48 22.2x* = 1800
23. 4x> = 300 24. 9x = 450
25. (x —3) =16 2. (x+2)°=9

Find the vertex, axis of symmetry, and zeros of each function.
Then sketch the graph of each.

27.y=(x—2)* -1 28y=(x+17% -4

>

[N

'S

'8
;8]

[:3]

[\§)

N
1N

Algebra 1 Practice Masters Levels A, B, and C




CLASS DATE
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10.3 Completing the Square

Use algebra tiles to complete the square for each binomial. Draw

a sketch of your algebra-tile model. Write each perfect-square
trinomial in the form x2 + bx + ¢.

1.x° + 2x 2. %% — 4x

Rewrite each function in the form y = (x — h)? + k.

3y=x"—6x+9—-9

4.y=x"+ 10x + 25 — 25

5.y =x° — l4x + 49 — 49

6.y=x"+8x+ 16 — 16

Complete the square to create a perfect-square trinomial. Write
the new expression in the form (x — h)>.

7.x% + 4x 8. x> — 12x

9. x> — 18x 10. x> + 22x

Find the vertex of the parabola represented by each function.

1mny=x

12.y=x2+5

B.y=x"—3

“uy=x>—2

Rewrite each function in the form y = (x — h)? + k by completing
the square. Find the vertex of its graph.

B.y=x"+7 16.y=x"—2

17.y = x> — 4x 18.y = x* + 6x

19.y = x° + 2x 20y = x* — 12x

21y = x* — 20x 22,y = x* + 24x
Yy y

23.y=x"— 10x + 1

2.y =x*+ 4x + 2

178 Practice Masters Levels A, B, and C
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' 10.5 The Quadratic Formula

Find the value of the discriminant, and determine the number of

real solutions for each equation. Determine whether the equation
can be factored.

13w —6w+4=0 2.4 +10r—7=0
3.8/ —10y+3=0 4. -9 +12r—4=0
5.2+ 121 =0 6.—7q4° — 154 =0

Use the quadratic formula to solve each equation. Round your
answers to the nearest hundredth when necessary.

755+ 12x — 28 = 0 8.2 +4x=7
9.3x> — 5x =2 10.5x* = 21

1.3 + 10x —5=0 12.7x6° — 14x = 2
13.6x° — x = 40 14.2x* = 5x + 9
15.x2—3x=3 1s.lx2—:11x=1

Factor each expression by using the quadratic formula.

17.2x% — 2x — 24 18. 3x* + 9x — 30

19.2x% — 11x + 12 20. 4x* + 24x + 35

Choose any method to solve each quadratic equation. Round
your answers to the nearest hundredth when necessary.

21.3x% — 19x = —20 22. 165" — 225 = 0
23.97 — 7y = 10 24.2t* — 0.75t = 6
25. 4p” = 25p + 21 26. 456" + 2 = 33¢

27. The length of a rectangle is 3 more than its width. If the area of
this rectangle is 13.75 square feet, find its dimensions.
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NAME

CLASS DATE

Practice Masters Level A

11.3 Simplifying Rational Expressions

Name the common factors of the numerator and denominator.

16

120

9
3. —

15

4(x + 3)

8x

x+y

1a+wu—w

x+2

z (x + 3)(x + 2)

3x+ 9

4, ———
3x% — 27

x*—4

6.5 o
x“+ 6x+ 8

r+2

L
r“+5r4+6

For what values of the variable is each rational expression undefined?

5x

9.

x—2

6q

1.

q—3
p—4

13.

4—-p
(m—-—1(m+1)

1 (m+ 1)(m+ 1)

r—>5

10.

r

12

12.

3—x

2

1

4,
x(x? = 3x + 2)

b+ 1)(b+2)

1)+ 2)

Simplify each expression and state any restrictions on the variables.

15(x — 1) 14t 4+ 35
7. ———— 18, ————
36(x — 2) 2t+ 5
5m + 15 16 + 4x
19, =——r= 20, ———
5
c— 2 &
21. — 22. al
cc—4
4m =24
23. — =2 24. /5
e }y,gf 30 n*+ In— 15
196 Practice Masters Levels A, B, and C
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\ Practice Masters Level A
11.4 Operations with Rational Expressions

.: Perform the indicated operations. Simplify, and state the
. restrictions on the variable.

3 5 ) 7 5 1 5
1.—+ = 2——-— 3.—%—
X x z x 2
ik
| 4 2 15 3 17 5
; 4. —+ — 5, — 4+ — —_—
| m m 2x 2x 3m 3m
! 4 24n x—2 x*—4 1 1
\ . 8. + 9.~ + —
24+n 3+4+n 4 3 y 2y
3 1 n+4 n-—2
10— — — 1. s
4n n n+3 n+2
x+ 4 x 5 10
12 - 13. -
2x—8 x-—4 x+2 x+2
] 11 6 3 +3
14. - 15. — P P
p+3 p+3 p-+2p—3 p—-1
6 5 10 12
16. — + — 17. +
g g —24+w w-—2
8 12 5 19 y+2 y?
-2 =2+gq yy+1) (+2y+4)

In physics, then term work represents a force multiplied by the
distance a body moves in the direction of the force applied. That
is, W = Fd, where W represents work in joules, F represents

force in Newtons, and d is the distance through which the force
is applied. (1 joule = 1 Newton - 1 meter)

Copyright © by Holt, Rinehart and Winston. All rights reserved.

20. If a body moves 5 meters in the direction of a force of 12 Newtons,
determine the work.

-paniasal SIYBU || "UOISUIM pue ueysuiy OH Ag @ 1ybuAdo)

2
+ 13x + 42 ) . .
21. If a body moves -x+6— meters in the direction of a force of
X

+4 .
f Newtons, determine the work.

% x - 16

Algebra 1

Practice Masters Levels A, B, and C 199
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NAME CLASS DATE

Practice Masters Level B
12.1 oOperations With Radicals

Find each square root. If the square root is irrational,
approximate the value to the nearest hundredth.

1. V64 2.—-V10
3. V24 4.\V/225
5. —V0.123 6. VV0.999

Simplify each of the following. Assume that all variables are
nonnegative and that all denominators are nonzero.

7. V42 8. \/75?
. a6 . J/16
1. V8a°V’ 12. V16p' f'€
Simplify.
13.7V7 + 8V7 — 11V7 14.6\V4-3V4 +5
15.—3 - 5V3+7 16. —19 — 6\V11 + 9 — V11
17.V3 + V2 — 9\/3 18.V3 — 25 + V7

if possible, perform the indicated operation, and simplify
your answer.

19.2(V3 = 7) 20. —8(3 + V/5)

21.V2(\V/5 — 14) | 22.V3(\V/3 — 5V/27)

23. 4V7(2V7-1) 24. —6V2(2V2 — 3V/3)

25. (V5 = 7)(V/5 + 3) 26. (4 + V3)(2 — V/3)

21.(7 — V2)(7 + V2) 28. (\/5 — 4)?

29. (=3 + \V/7)? | 30. (V2 + 3) (V2 — 3)

Algebra 1 Practice Masters Levels A, B, and C 2098
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Answer Key

 Name Rational Numbers Name Rational Numbers
Adding and Subtracting Rational Numbers Muitiplying and Dividing Rational Numbers
all o
1. 3% +225-73% " b+a 12. 53 +-343-80 ¢ "(0%71.0'0 3+6e}= 18- 1£ }J, 6
q t
2 6-73+28 :'”Nsa 13, 8-18+61= -(5%'6 2§ 1§ +1% =%‘%+%=%'§'%=%&°”°g
1 - 13 750
. 8+2f-8lzc — 14, - 98-52 = — = - 2=
5. 8L+2fp-81 9% 23+-9%-5% ‘rl 105 1. 2%--6% ~—’6F§ 0. 2362 5 2177
4. 6l+-325-1285 7 -9 Q 15 afesss-13473-]¢ % 2 4e2he 7} :64% i sseaed = oD
5. -2- 314—4§-'3—§ 6. 5-73+28%8 = -1 -
7Tes [ 3 98.3L = 3433_36 12. 5§ ~080-0 ¥
2 .. 2 = ; —sl-2 = @ 3
6 78-18+3% o 17. 3 -3 -8 °l 30 ) 4 1§e329 T ':;3)0 13, 11eaghea _1341;{

- +3% = aﬂ ) —22-g4 = 4
7. 12-173 33 8 30 18, 17-122 39 ‘3“; 5. 4-.2% a2 = _‘8% 14, (.3%)(_3%)+'4: 9\6 ‘Bl’é'a

8. -11.08--1267 < [,53 1o, sz = =9 o speap 7o) _"i w sieped ® D ~
* 22 5 - Y37 i)
3 2= 38131 ﬁ l’ —’s qu" q

R A 300 20 Mee8 gl 3!50 7. 10:26 -1 T ’Sé 16. 10-1216% ? -'74(5{';,

. 13217, ¢z % 2t. 17812241 g < - i
10 13 g -8t 9 ! e &' 315 6 a6-a173 ==114. 28 7. 721025 * 7 17.0877
M. 3f+42:-73 T ~ 2 94-s561-9% = 4. “ LSY3

i 7a°° 3 : 6 300 9. 108:-2} «8F = -4 g¢ 18 n2me7fe22§® ‘310l§0
©1995 Kelley Wingate Publications, inc. 53 KW 1009 Pre-Algebra | 01995 Kelley Wingate Publications, Inc. 54 KW 1009 Pre-Algebra

Name.

Rational Numbers
Muitiplying and Dividing Rational Numbers

Rational Numbers
Order of Operations with Rational Numbers

4e342=-12+2=-14

I 23 +(4+5)=§+12=§o112=315l

11428 5’%‘85 12. 52+.384 :"%

2. -6~a§o-1* H ‘1?__0 13. .z,z.s-% s —\ %

2l 2 - 33 . «356+0 < ..
3. 5}e2] %—i- 4. 6§ -356:0 T 1. 25:6+4) = 3o
¢ 32w 26625 5 13es}e2 T -‘332 2 3¢5-4 = |2

3 g 5
5. 20435 3= 1§ e vfredr+2 211 Ve 3. -B+2+5--§-25+5 1
. -B+-24+5+-5-25+5 = =~ 2

) . . 2l+68 24 = ‘:L'l
6. 3§+6% ~ 55 . 236§ +4 iSeo 4 JLAs+ae@aD+ T '7%

7. 12422 4§ * J%-,r— 18. 120133 «-6} © -103" %—
o 4242122 = 50,904 10 sx-am = -30.43a5

9. 142+64 2% ° -352 1326--8§+128 = -8{%81

15S
2 - 348 250
10. 135+-3§ 69 % 21 ‘°‘°"5§+2°§°r225|!3§/o

1. 128+-6% 24> _(pBZ“ 22 1343+-133 +135 7 -{3. |3

5. (9§+4%)+s--{2 s ,qus

-122
o BEEE /23

7. 3faE10)-5 - 57

8 2.3z ° Y3

8

a 40+[(3-3)-(36+9)1w/}1.\:\" ‘73

©1995 Keliey Wingate Publications, Inc. 55 KW 1009 Pre-Algebra

©1995 Kelley Wingate Publications, Inc. § 56 j KW 1009 Pre-Aigebra
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Answer Key

Name

Rational Numbers

Order of Operations with Rational Numbetrs

=

©

M.

.20 4 2 =
. 2013+23

. 4e42-(6+3)]

&
frizes = .%_

. 54+-3-20-5-2147€ ’_31
3
Ju-12=-2+(1+8 <8 H —‘-[ }lb
. 6)-23)e6--16 F 34
e S L
30220430 o

. 2[5(4-12)-3 < '7"'

0
20 +[(3~ 6) - (24 +8)] + 32 6%
2.5[(4 +2) + (3248)] :ﬁ

[(2+2) - (30 46)) + 25 - 23 = -49

Name, Real Numbers
Comparing Real Numbers
486 _____4AT8 4% 478
486 < AT8 450 < 478
Use <, >, or = 1o make sach a true sentance.
1. 25_=_2} 6. a_< 3
2. 1078_% 178 7. o3 > 87
i
s taz_ S 1w s 12f_2 128
4 omazt_<_7s617 0 15_S 13
5. 232332 23233 10. 32— 3

Rewrito any fractions as decimals, then put the decimals for each problem in order from
loast to greatest.

1.
2} .28 .24 24,2528 24,2526

1. 2.51,2.511, 25111 6. 10.78, 10.781, 10.710

1,5\‘2.5\\,:1.5\\\ 1010, 10.78, 10131
3
291 .98 9% i, a 7.5}.5% 5%533,55,575
4 -1.9,-1.33, 7130
a.2} .2} .2 800 paa288 B1E° 18,1 §719,7387

4 48 4§ 4.34HGL UL 40 973, 745 78 qus, 76,060

~o.6b " 2
5.-6% 686,64 43, bbb, b2 10.315 . 3835 35,534,333

01995 Keliey Wingate Publications, Inc. 57 KW 1009 Pre-Algebra ©1995 Kelley Wingate Publications, inc. 58 3731 P
Name. Equations
Open Sentences Open Sentences
1o10 =x B2 =1 I
2 =re =
1.8 g-12 =t 25;13.'2! r=t
26 =26 Trus
% 1. B+x=3}.1 =-3} Faise g 18312 *5=‘5-“°=977ue
2 123 o J - a 9. -8 +h+al =y \/’ -9 3 2 24y=9,ity=b Fa\sc 0. -2 +fyecd =3 itc=2 F-aj,ge
3. 2£718 op P = -4 10. 8512 45 P’ =} 3. %l+-4=0-“m=6Fa¥se 10, 7+e-3n=-121e=12 Falee
c-1 2 - -5
4 peazen=w ¢ I 5 1. ke36=m N~ 3 4, y(e+a)+2=a7.ity+st'aise 1. Be13k=7.1k=6 False
5 7.5:33+13=9 3= “ 1}TE 12 az4s22243=0 1:5-03 s 112+2-r=141 =32 Faleg 12 1+632+3=221tr=-3 F&ise
.y 4 .
g 13 3 e ‘F’ Y = 15 2:5-5=0 OkE -1 6 s z=tsix=1falee 13, A+6-6=-23,il1=5 Fase
7. 4+361-168=n N> '33‘0 14, 1+278-65=2 Z:’ana\ 7. |(2+3)+1=22,in=1sFa|se 14, z+13+65=7ifz=-3 False

m
31995 Keliey Wingate Pudlications, inc. (\EQJ‘

KW 1009 Pre-Algebra
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Name

Equations

Simplifying Expressions
Distributive Property s

EvaluaMprcsslom
Evaluate the following it, w =}, x=3,andy = -4

| xwe2y)=2-32F)+2(H)]=6(1+8)=6(7=42 I

3(x+4y)=3x¢3-4y=3x+12yj

1. Wow+xy) = -?_L
q
2 w-a 5= AL
o
3. S(w-2y) = _%ﬁ

>

wywen = =30
5 meam = —1S
6 swey) B A1

7. owizyed) = S
X

8. aw+dx-y) * Q] ‘k

al
W

10. wx+x—~6xy = %

=61

1. wxigwe2y-5 - I

©

. Wiwexy) S

(=

12, ew—lxy+3 -

13, 4w—Tx+3y-2w = -32

. tzyeyeowyex 1 l"f

N

©1995 Kelley Wingate Publications, inc. b. 61 }

KW 1009 Pre-Algebra

1. 6p+0: -t ~be 8.
2. aw-4g Iw ~ |3 .
3 2x-12F S x— oY 10.
4 2snz bt JY 1.
5. 8(y+-2x):glj Y ~lx 12
6 s+ =AY 665 13,

7. 52y + 59 IOHfasY 1a.

2(3p - 56F l-p - 10p
ressa = Te ¥ dad
sweyrn =t 3yt 32
azrv6y) EH—Q‘H
ak(-xy+.5,=—3\<,p.3+ -I5K
oaxen =—18x =72

2y +sw= Qthy bOw

©1995 Keliey Wingate Publications, Inc. 62
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Name

Equations

Simplifying Expressions

Distributive Property

2W+2b)=2w+2e2b=

2w+ 4b

5. -5(h+-3p) > T Sh ‘SF 12,
6 2-6g % &t = la% 1.

7. 7@s+am: =21 St ~Almi4

Cseeam = 3et§f 8.

2. 62g+y) 3 53««5+ fata. e

3 Ty-9) > "I'a— > 10.

4 4p+0 R4 YR 11,

ssaran) T 304 + HBhb
et ~AL + G €
ageneg =45t -4R '43
sav+s0 18 v £ 30¢
sgmen® = 3dnm ¥ 21d

-3(8g+3a) ¥ = 3.‘\-5'* - qa.

sawese)z =\Bust -4 0Oe

995 Kelley Wingate Pubiications, inc. 63
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Name.

Equations

Simplifying Expressions

Combining like terms

=N+ 4r

g 3n-2n+4r={3-2)n +4r J

1. 7razr—4 t QG -4 8.
2. 23x—7x+4x =30x 9.
3. 3xy+13xy~12xy = "} )(3 10.

4. ~3n+12-4n:"’1r\'}‘ la

5. 12ax—2ax+ 14x—-2a+-3x = 12,
\Oax+ilx-aa

6. 3x + 2y + Xy = Bxy + 4x + -4y 13.
1xv39-513

7. 2r +4ry— 57+ 3x - 4ry ’ 14.
-3rt3X%

12p + 5pd ~ 3p + 6p0 ’-qP'\' “Pd

4x—2x+ 6xy + 21x + -Oxy -9 ¥
a3t Bwa'q
4o+ Bed +4d-Ted+7 =
Ye+ldd-2edt'
3x + 2y — 2y + Bx 2xy =
Bx -4 xy T2y
7a+a-a+3ab-ab+2ab =

72 +4ab

5m+2m+40mam+ 17 T

4 mt |7

2x + Oxy + 4% + Bxy +6x =

|2+ 8)&3,

©1995 Kelley Wingate Publications, Inc. 64
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Answer Key

Equations

%wmgﬂuatlons with 2 Operations

y-7=30
3y-7+7=30-7
3y=30

Solve each equation for the given variable. State the answers in simplest terms.
1. Bre7=-24 B 13n-13=-12
r=Q"§ ne
2, 5x=5=-10 9. 2x-12=-33
x: - x: "3y
3 9=0y+5 10, -42=6b+8
%13 b3y
4, 12=6c-4 1. 1644y =32
c: 2%' ws - \a
5 -23a3--9 12, 1645 =1
e:=10% r:-54
6. 16=-2v4+8 13. 2x-5=16
v: 33 +=\0%
7. Fat2 14. 11 =3y-10
13_ r 1 16 |
©1995 Kelley Wingate Publications, inc. -~ 73 KW 1009 Pre-Algebra

Solving Equations Using the Distributive Prom

Ac-4) =15
3c-12=15

3c-12+12=15+12

c=9

Solve each squation for the given variable.
1, 3C+d)=-7 B 2n+6)=80
-. i
=% w3
2. 35=-7(z+3) 9. a(8-6n)=41
iy |
A '8 n= \
3. TH-T)=-14 10. 7(2x:3)+3=24
1= %3
A, 3o=5(g-3) 1. 2{ox—8)=-22
c-45 %3
5. 16(x~3)=-33 12, -36=2(x+4)
X1t *x=-a
6. 36=6(x—>5) 13, -4(6+n)+3=38
%2\ n: .
7. 5(3-§)=8 14, -23=5(1-4)
€.z é: '3-
5 . 5

01995 Keliey Wingate Publications, inc. : 74 )

Solving Equations

1. 3m—-B8=5m+8

3x+5=4x+6

aAx —4x+5=4x~4x+6
x+5=6

Xx+5-5=6-5

x=1
ERE

x=-1

Sotve sach equation for the given variable.

8. 23b+9=4b+66

m= -8 b-3
2. t+9=t+5 g -4g+12=9+2
Iy 3-2
3, Fy-7=5y+13 10. -Bt=27+1
Y= (o =3
4, 4h+10=2h-22 1., 13y-26=Ty+22
W= ~te v= 8
5 w=3=1-3 12 4n-6=6n+14
=7 n= "lo
6. 17+p=7p-13 13. e+B8=2e~12
p=5 e= 20
7 4X—;:2X+7 /\14. 9ww+6=f‘6‘w7—'15
©1995 Keliey Wingate Publications, Inc. 75 } CD3731  Pre-Algebra
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Name Equations
Solving eguation ] Mixed Practice
Soive sach squalion lof the given vasiable.
1. +5=)=7 10. 3h+5=2h-9
3=0b h=-14
2 ow+9=3w-15 11, Bu=21-u
ws=-4 w=3
3. 3g+12=69-3 12, 12k +13=Bk+33
4. 45=-9(e +B) 13. 7(9-6)=-63
5. 4(y-8)=-12 14, -6(36 - 10D) + B =32
45 v=4
6 24w4(§-7 15. 9(8c-9) =-351
\\'526 c:b
7. 1g=121 16. f=22
mz=55

=1\

8. -13k=52 17,

k-4
9. 3=-N t=_5 //\18.

= =25

©1995 Kelley Wingate Publications, Inc. § 76 }
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Problem Sotving

Writing Algebraic Expressions

Three times a number decreased by 7 x~-7

A number increased by 9 X +9

The number divided by 3 b+3or %
The product of 3 and 8 3+8

1. Eleven times the sum of a number and five times the number \ ‘ ($ '\'5 x)

2. Seven limes the sum of twice a number and sixteen 7 (’z_ﬁ & \b)

3. Eleven times a number decreased by three “* - 3

4. Two-fifths of a number minus seven =) f’

— -

5. Three times the difference between x§nd 5 3 ‘ %= 5)

6. Five times a number plus six times the number 5 * _‘,, 6 $

7. A number increased by three times ihe number x + 3 b'4

8. The quotient of a number and five decreased by two L - 3.

9. One-third times a number increased by six _L

. Xt

10. Four times the sum of a number and eight y (’ ¥ q)

11. Five increased by seven times a number s S -' %

12, The preduct of six and a n? me:assd by six - {p ( X .}b)

KW 1009 Pre-Algebra

©1995 Kelley Wingate Publications, w

Name

Problem Soiving
Writing Algebraic Expressions
Three times a number decreased by 7 W=7
A number increased by 9 X +9
The number divided by 3 b=3or §
The product of 3and 8 3-8

1. Two-thirds of a number and eight
A
2. Nine mors than the quoﬁem of band 4

3. Two times tr(% sum of allmber and iwelve
A1)
4. Four-sevenths of a number minus six
-

5. threetimesa nun-\Aer plus five times the number
X +5

6. Seven times the difterence between ¢ and 4

7. A number increased by four times the number

X+Hx ‘

8. The quotient of a number and four increased by three

. + 3

9. two-thirds times a number increasad by five

10. Two times a numga' times and eight
x *

11. Three incrised by two times a number
* X

12. The guotient of five and a number increased by two
(6=x)+Q

©1995 Kelley Wingate Publications, Inc. 78
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Name. Problem Solving
Writing Algebraic Expressions
Write an equation for each and solve.
Nine more than & number is 35. Find the number.
9+x=35
9~-9+x=35-8
x=26
RIS
1. A number increased by 7 is -23. Find the number. X + ’-’ == 3 3
X *-30
2. One-third of a number is -20. Find the number. ‘i A0
x=-60
3. The product of -7 and a number is 35. Find the number. l7 x- 33
X2 =5

4, Three times a number is 21. Find the number.

3x=ol
v=7

5. The cost of five cakes is $41.00. What is the cost of each cake? 5 X < ‘-‘ ‘

x: §8.a80

6. The cost of a saddle is $231.00. What is the cost of four saddies aa

4):x
ay:x

7. Four times a number is 52, Find the number. L’ X = 5.3

xX-13

KW 1009 Pre-Algebra

©1995 Kelley Wingale Publications, Inc. 79

Name,

Problem Soiving

Writing Algebraic Expressions

Write an equation for each and soive.

Eight more than a number is 28. Find the number.
8+x=28
B-8+x=28-8
x=20

1. A number increased by 9 is 41. Find the number. x + q 4-'

~x = 32

4. Three times a number is 45. Find the number. '3 ¢ & 4 S
x5S

5. The cost of five boxes is $22.00. What is the cost of each box? 5 X .

6. The cost of a television is $432.00. What is the cc(! o$our letevisﬁns'?

- 7387 %

7. Four times a number is 48. Find the number. q’x - 4 8

AR

1995 Kelley Wingate Publications, Inc. 80
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Name. Inequalities
Solving tnequalities with Addition and Subtraction

L 1 I l 1 1 L
1. 153=d ~—T—T—T T Iﬁ_h
5 -4 3 2 -1 0 1 2 3&4 5

4>

: 1 Il 1 1 L ]
2. f-45-2 7 T T T T T T W
-F):. 5 4 -3 -2 - 0 1 2 3 4 5

3 2>y+2 ‘1‘:% ! I T T T
¥<0
J 1 ! 1 i I L 1
o Ty
*£0
L 1 1 i | | 1
5. -352+9M—l T T T T T T
62 5 372 4 0 1 -2 3 4 5
& 20284 3 Em——————f—~
5 4 3 1 5
£&-7
7 d+d 2}
dz-} o
& 7+n?;8 5 -4 -3 10 1t 2 3 4 5
nel N

©1995 Kelley Wingate Publications, inc. \\3.5) KW 1009 Pre-Algebra

Name. Inequalities
Solving Inequalities with Multiplication and Division

2422 |~ —t—t——t—tt
3 5 4 3 -2 -1 0 1 2 3
.3..2,(5.2(.1)

2
I gt
x<-3 5 4 3 2 -1 0 1 2 3

Changs the sign when multiplying or dividing by a negative number.

1 ixs24 H—t—t—t—+—1 'W
5 4 3 2 4 0 1 3 5

X>2
| ! 1 1 . 1 1 Il
o one =t O
n23
o 1o sttt ——y
5 -

©1995 Kelley Wingate Publications, tnc.
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Hame Inequalites
Practice Solving inequalities
Soive each inequaiity and graph on (he number iine.

‘_'ta:"sl 5 4 3 2 -4 0 1 2 aa 4 5
-

- _'_« 1 i 1 4
282 AN, 3 2 a4 0 i
be-3 °

2 222 :3::::’4% ;
=

1
1
5

-4
w—t
IS

L L 1 L 1 1
4 a+tséd =T T 1 Izbl'l 2 3 4 5
e<?d
1 1 ] 1 i .
s TUWT o 12+
m=2-2

6 x25  ~+———+——+—+——1—+%
-5 -4
x5
7. 052 T ]
2~
i 1 1 b L 1 1 | IR
sioe O
§ - 3 2 -
=4
L l L i -
9. x>-2 "_',—_"—ﬁl T T T T
>—l 5 -4 3 - -1 1 2 3 4 5
x L L L .
1. r23 ‘17! T T T T 1

:>3 5 -4 3 2 -1 0 1 2 3 4 5

01995 Kelley Wingate Publicatiors, inc. 87
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Name,

Inequalities

Practice Solving Inequalities

Solve each inequality and graph on the number line.

e O et
1098765432101 2 n§ 567680910
S TREITIL SEEEF SRUSREET

1. 13<g-12
37|

2. -345<x+-31.5

x2-3
3 B85c<BS5 PP PRR IRAEL ST YR TRy
4. h+9>12 .'0.9.5.7.'6.5.4.3.2.1012eAse,§91u

h>3

——t " s
5 d+452-1.5 109 B 798 5 4 3.2 -1 6’2545&7&9!!1

d=-b PN
098 P5-540-2.10 123456788510

6. 11>r+14
r<-3
7. c+2>-3 —10-93-7-5@—44-2-!;12345678910
c>-5
5--322 mg-s76543210'za451'7'391‘e
n&-b
=
9. -4 25-(-2) osl‘a 7!-54-3-2-10|'25s'557n‘9|‘:
5<-b
10 Lly>-5 s f?
- 5Y N-o-8.76-5 21012345678 910
¥ >-10

©1995 Keliey Wingate Publications, Inc. 88
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pett

Answers

ot
o—cd

Lesson 5.4
Level B

1
1.——,1
3

2.—9,6
3.4, —3

P
- -

=N W R

| A
Ve

Y
®

(S

JET Y

N W

q

6y=——"x+4

7.y=—-x—1
g y=—-x+5

1
9.y=-—§x+3

0.y = 7x

My=6x—3

310

Practice Masters Levels A, B, and C

Algebra 1



Rifehart.and Winston. su g =

Copyright © by Holt,

12. crosses the y-axis at 7 and has a slope of

-4
13. crosses the y-axis at —
4
of -
5

Algebra 1

3 and has a slope

Practice Masters Levels A,




Answers

Algebra 1

8. 16

9.e

10.2

1.d

12.b

13.€

wy—5=3u—2) %f%ﬁ’\
5y —10=—2x— 4 A= 24 1®

16.x=1
4
.y — (-8 =367 (—3))

b): %7( X

Practice Masters Levels A, B, and c 313
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Answers

5. 15 months

6. $90

7. 4 minutes

8. 484 feet

9. 15.6 minutes
Lesson 7.2
Level A

1. yes

2. NnO

3.NnO

4.yes

5. NO

6. yes

7. 100

8. yes

9. (4, 10)
10.(—1,9)

1. (1.8725, 12.125)

12. (0, 0)
13.(—4,1)
1a. (17, —53)
15. (10, 129)
16. (0, 3)
17.(—2,0)
18. (0, —4)
19.(—1, 1)
20. (2,0)

(1 | )
21.1|— 2
2

22. (2, 8)

23. (— 15, —22)

24. (1,4)

25. (—1.5, — 17.5)

26.(0,2)
27.(—1,4)
28. (10, 48)

. _?,““,W:umw,;
ra

Qﬁoan
Level B

—

1. (—1.25, 3.75)

H y ,

Algebra 1

Practice Masters Levels A, B, and C




Answers

=7-2-83

3. (—2.75, —3.25)

L NG W

| A
A

&%)
5 |- —
6 12
. 6. (6,4)

7. (12, 1)
8. (1,1)

-3
9.{—— —

23

10. (2, 4)

1. (2, —3)

12. (— 3, 4)

13. (10, 2)

14. (—1.125,2.125)

2
15. | —, 2
12
16.(—1,1)
Lesson 7.2

Level C
1. —4.6,—4.4

1
2.—12, — -
2

3. 30 feet by 20 feet
4. 2.94 seconds
5. 140.6 feet
6. 53 adults, 41 students
7. 4 of last year’s models and 7 new models
8. 35.9 seconds
s. 64.6 feet beneath the surface
Lesson 7.3
Level A

1. opposites: 2x and —2x. Add the
equations together and solve for y.

2. opposites: 84 and —8d. Add the
equations together and solve for c.

3, opposites: 1.5b and —1.5b. Add the
equations together and solve for v.

4. opposites: n and —n. Add the equations
together and solve for m. ‘

5. opposites: 17x and —17x. Add the
equations together and solve for y.

6. opposites: (—E)y and —g—;->y. Add the
equations together and solve for x.

7.x=1y=2

328 Practice Masters Levels A, B, and C
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_1Lesson 7.3

- Answers

8.x=3,}’=1

nt=Lp=-12

: 77
1. h=15s=—
! 5

12.j=3, k=7
1B3.x=3Ly=4

23
“m=5n=-—_-
7

su=1,c=2
9
16.h=29=T
LA

17.x =2,y =20
Bm=—-1,n=-—1
19.w =4,p =525
20.g = 11,b=—6

[P,
e,

i

Level B

“ elimination; There is a pair of opposites.

2. substitution; There is an equation solved
for y.

3. elimination; Multiply by —2 to obtain a
pair of opposites.

a. graph; Estimate the solution.

2
5.xX=2,y= —g

e.m=—3n=1

7.q=7,b=—1

su=1,v=2

9.x =8,y =2
10.q=-1Lw=4
Mh=78=7
12.x=5y=3

13.x=2,y=14
“.p=9%q9=>
s.m=1n=1
16.x=—11,y=29
17.c=3d=2
18.x=2,y=2
19.k=-3,p=3

20.v=0r=5

21.x = l =1
. 2,y
»m=5n=—2
Lesson 7.3
Level C
] 1 3
X=— Y ==
2 y 7

2 h=26,c=22
a.m = 10,n = 100
aq=—08w=—07

5. $500 weekly salary, $16.25 per hour
overtime

6. rose bush $15.50, and bed of petunias
$9.75

7. 62.8 seconds

Algebra 1
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Answers

20. (—1, —2); consistent and independent

21.(—2,2); consistent and independent
22.10, = ) consistent and independent

,3. infinitely many solutions; consistent and
dependent

24. no solution; inconsistent

B

25. infinitely many solutions; consistent and

dependent
26. no solution; inconsistent
27. (1, 2); consistent and independent

2 6
28. | =, — |; consistent and independent
26 13

29. (4, 4); consistent and independent
30. (6, —17); consistent and independent
Lesson 7.4
Level C
1L.x=—-2y=7
»_ consistent and independent
3. They have different slopes.
4. infinitely many solutions
5. consistent and dependent
6. They have the same slope.

7.AB:y = 3x — 3,CD:y=3x+ 2; ho
solution

8. inconsistent

9.;Answers will vary. Sample answer:
y = —3x =3

10. 285 pounds, 220 pounds
11.51,12

12.p=—8

13. Juan = 135 + 2.1, Tom = 2.1t. These
form an inconsistent system and have no
solution. Since the event of Tom catching
Juan is represented by the intersection of
this system, it can never happen.

s,

Lesson 7.5 |
Level A

eSS

1. yes

3.yes

Algebra 1

Practice Masters Levels A, B, and C
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Answers

Lesson 8.1 28. 5°

Level A .
29.10
1. base of 6, exponent 3

30.6°
2. base of 4, exponent 2 .
” 31.7
3. base of 8, exponent 5
] ‘ 32. 4
4. base of 10, € onent 3
P 33, 27%°
5. base of 5, exponent 5 ‘s
34, 10x7y
6. base of 2, exponent 7 .
35.12x°Y X
7. base of 12, exponent 2 513
b f 36. —42a b i
8. base of 20, exponent 1 ;
37, —10°d°
9.243
38. 361"V
10. 15 .
39. —4a
11.729
a0. =245y z°
12. 64 e
4. —7mn
13.49
42.30f*¢°
14. 1,000 _— _
43. —24r's i
15.24 Ll
a4, 158°6°C E
16. 64 .5
s 45. —4X7y
17.5
u a6. — 361°1°
18. 8
47. 30u61/9w2
19.9° iy
. 48. —24a’b
20. 10
, a9. — 305"
21.7
b 50. 24n" W
22. 10 6 5
. 51.15d°¢
23.2
. 52. —14x"y
24. 4
: f 53. 56ab°C¢
1 25.6° S
e 54. —207°s
{ 26. 10*
] j 27. 3%

Algebra 1 | Practice Masters Levels A, B, and C 335




Answers

39. 100 8. 4096 {

40. 7776 9. —4096

m. 81 ' 10. —100

42. 10,000 11. —16,777,216

43.0 12. —p*°

44. 18 13. 16

45. 3969 14. —8000

46. 45 15. 2500

47. 32 16. 8

48. — 96 17. 10,000

49. 200 18. 108

50. 45 19. 15,625

51. 36 20. 225

52. 91,125 21. 27,000 »

53. 900 22. 1600 é&

54. 144 23.512

55. 8,503,056 24. —32,768 g

56. 91,125 25. %8 :

57. 36 26. g*° :_f

. Lesson 82 z1. 432b°c"® g
“Level B " 28. 1296x%% s

1%::9 l' 29. 169h'°p*® g
2.1° 30. — 125¢%/%7 i
3.—1 31. x6y6 “g:
4. g 32. —1944m*°n’ %
5. —9 33. 1600¢d"! :
6. 2401 34.12¢"h®
7. — (w?) 35. —19683a’b’

338 Practice Masters Levels A, B, and C Algebra 1




Answers
L -8-> =

o

16, —1000g°
37. 256a*°b*
38, 2 y42

39. —9b°

a0, — 1562

a1, —256g K’
s, —243np"’

43.a°

s —c2d?

s, — PP

a6, —243m™°n’7p"
_ 200y

a8, vPwPul®

fLesson 8.2
Level C
1 —_}——
320
) -27
64’ b3
1

3__-/——

" 2401m*n"p*

— 2P

e ——
27

7. — ,’/!714"‘61/44w33
8 — 4b52cl41d70

9. —1000x°y*72°

10, = 36m'*n*°p”"

1. 7236*°
12.72 centimeter53

324m’ 5
13. —5 meters
n

14. ?vc;/3Z3 meters
15. $27.50
Lesson 8.3
Level A

1.49

2. 144

1
3. —=
169

4. 625
5. 1000

1
6.
14

7. 6561

9.——
900
10. 225

11. 125,000

12. 512

13.x""
14. ¢*
15. k¥

16. 374

Algebra 1

Practice Masters Levels A, B, and C
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Answers
17. b** < Lesson 8.3 w
Level B ~
2—k i _
18. 1 e
19.y° 1 175
20. mn &
21. v 2. f?
22 b4 . 49y
23. 857 | 4x°
24, yz" . 16a*°
25 f4—w ' 81b28
3 64
26. C 5 -;E
21. r°
—- h21
28. ab® 6. ?
29,
2n . 81wt
1 T 12
30. —— i
2hg? 520 ,,8P
31. (xy)‘_d 8 PRTY)
2. L g£f”
2 9.
4 16
kh 8t°
© 33. ? 10. <
125v
2,3
202 L
3 16x°%*
35. 6m* 33v 3
12.
36. 13 Y
1 et 2
38. —2h° 14. %7y
2 fs e k2fhP10f
39, —— '
d2 g4f
340 Practice Masters Levels A, B, and C Algebra 1
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Answers
- 833
—64 Lesson 8.3
Level C
1 — 50 W18
32*°
18. '1'74—4_ , 81228
o 6
100001
. 3 m40P108
' 1024q"°w"™
—4 4. 45
. v
.—8 81w
5% a*
1 6. oL 2 |
" 13xy° = 1 : ;
n? ' 32a58b2c7° : '
3m’ —27u*w* 2-
2 8- 81/87 ‘S
a IR
v 9. 3.2 cars per family f‘
— ZS 8a6 . B ‘ " i
. —é—y" 10. —b—lgcg centimeters ; %
<z | at 5 '
.—;;;- 1. 22 centimeters ‘1
—9u w2 )
31. W 12. ;ﬁ;yg meters
—36m*
32.— 6.9 Lesson 8.4
npq Level A
6 _10
—xz Vv
33— 1. L
4 16
5h2 f18 P 1
34. —’?_3-‘ 2. — . ‘
81

Algebra 1 Practice Masters Levels A, B, and C 341




Answers
Lesson 9.3 7. 2w+ 25)2w + 10)
Level B = 4w* + 70w + 250
1.2 + 3xy + ¥ 8. $269.50
5. 7a> — 26ab + 15b° g.x = —55
2.30d% —cd = € 10.y=—6
4. 16n% — 9’
Lesson 9.4
5 & — 168 Level A
oW —w 1. True
7.48¢" + 10eg — 3g” 2. False
g.2d* — 13d° + 20d* 3. True
o h2 — l 4. False %
9 :
1 1
w0k +=-k+C ;
T2 25
5

ng —74 * 2y — 1447
12 812 — 8t — 50t + 5¢°
13, 4.14K* + 8.8k" — 40
14. 164> — 48d + 36
15.16d% + 34d — 15
16. 5a° + 39a — 38
Lesson 9.3
Level C
1.64° — 294" + 28a
2.3.64x" — L1y — 1.14y"
3 — 662 +.552 + 122% — 10z

4 3 5
4.fx2——x———
'3 2 24

5. 25)° + 2057y + 4x*

6.a=4

Algebra 1 Practice Masters Levels A, B,and C 353




Answers

Lesson 9.6
Level A

1. (x + y)?
2. (c — d)*
3. (x — 3)2
4. (a + 8)?
5. (x — 7)*

6. (r + 3)*

356
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Answers . # i
L-9-b-A

3 7.(s + 9)*

I PRk
9. (w— x)(w + %)
10. (3d — ©)(3d + ¢)
1. (5= k(G + k)
12.2f = 792f + 78)
13. (4x — 92z)(4x + 9z)
14. (85 — 5)(8s + 5)
15. (5 — 6d4)(5 + 6d)
16. (10a — 3)(10a + 3)
17. (x — 4)°
18. (x — 2)(x + 2)
19. (6 — 5)(6e + 5)

. 2. (5¢ — 1)
9 21. (10s — 3)°
22.(c — 12)*

23.(8g — 7r)(8q + 71)
24. (10 — 3d)(10 + 3d)
25, (2 — 3s)°

26. (9q — 12p)(99 + 12p)
27. (69 — 1)

28. (3y — 2)°

29. (2q+ 5)>

30. (11x — 9y)(11x + 9y)
31. (8y — 5x)(8y + 5x)
32. (7y + 4)°

33. (55 — 3)°

Copyright © by Holt, Rinehart and Winston. All rights reserved.

34, (xy + zw)(xy — zw)

Algebra 1 Practice Masters Levels A, B,and C
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Answers

an

Lesson 10.2

Level A
1. 14
2.10
3.15 :
4.9.80
6.11.18
il

Algebra 1 practice Masters Levels A, B, and C 363




}

T
Answers +~ ~ /0 ~2o—

7.6.71 27. Zeros: 1 and 3
Vertex: (2, —1)
8548 Axis of Symmetry: x = 2
9.x = *6 y
\
10.x = =7 *\‘ /4
2
M.x==x12 °
“1\ /
12.x = *17 x
—5—432 4
13.x = *£4.47 2
14.x = x20 Z
15. x = +24.49 Y
16. x = *+5.66 28. Zeros: 1 and —3
Vertex: (—1, —4)
17. x = _Z Axis of Symmetry: x = 2
y
]. 5‘\ y
18. = i_ 4
*= 55 e
\ 2 I 3
g \ / ¢
19.x = £— D . 1
11 T4 4 3
\ial/
9 3/ c
20.x = =— 4 <
16 . ;
Y =
21.x= x4 ¢
P
22. x = %30 B
23. x = *8.66 g
pad
24.x = %£7.07 :
g
B.x=7o0orx=—1 i
26.x = —5o0orx=1 %
364 Practice Masters Levels A, B, and C Aigebra 1



Lesson 10.3
Level A

1Ly=x"+2x+1

v

9. (x — 9)°

10. (x + 11)°

11. (0, 0)

12. (0, 5)

13. (0, —3)

14. (0, —2)

5.y = (x — 0)* + 7;(0,7)

16.y = (x — 0)% — 2; (0, —2)

17.y = (x — 2)* — 4 (2,—4)

18.y = (x + 32 — 9;(—3,-9)
19.y=(x+ 1> = L (-1,-1)
20.y = (x — 6)> — 36; (6, —36)
21.y = (x — 10)> — 100; (10, —100)
22y = (x + 12)* — 144; (—12, —144)
2.y = (x — 5)° — 24; (5, —24)
2.y = (x+2)° — 2;(—=2,-2)

7. (x + 2)?
8 (x —6)*
366 Practice Masters Levels A, B, and C Algebra 1
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Answers
Lesson 10.5
Level B
1. —12; no solution; no
2.212; 2 solutions; no
3. 4; 2 solutions; yes
4. 0; 1 solution; yes
5. —484; no solution; no
6. 225; 2 solutions; yes
7.x=2o0orx=—14
8.x=1120rx = —3.12
. x=20rx = —l
3
10. x = 2.05 or x = 2.05
1M1.x =044 0rx = —3.77
12.x = 2.130orx = —0.13
13.x = 2.670orx = —2.5
14.x=37lorx = —1.21
370 Practice Masters Levels A, B, and C Aigebra 1
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- Answers

L=10-5

15, x = 3.230rx = —-0.23
16.x = l.69 or x = -1.19
17.2(x — Hx + 3)
18.3(x — 2)(x +5)

19. (x — 4)(2x — 3)

20. 2x + 5)(2x + 7)

21.x = 5o0orx = 133

22.5s = 3.750rs = —-3.75
23.9y = 822o0ry = — 1.22
24.t=1930rt= — 1.55
2. p=70rp= —0.75

2 1
26.c = "Orc=__
3 15

27. 2.5 inches, 5.5 inches

Algebra 1

Practice Masters Levels A, B, and C
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Answers

Le

Level A

10.

1.

12.

13.

14

20.

21.

sson 11.3 °

r+2
x=2

r =

.m+ 3
4+ x

;x F 0

i F E2
c+ 2

Algebra 1

Practice Masters Levels A, B, and C
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ST s

5
£

n* +2n—8
11.—'2——'-—";11# —-3,-2 :
n“+5n+6
+ 4
12.x sx#+ 0,4
2x
15
13. T 2;x=,1’= -2
o x
5
1“v,——pF —3
p+3 P
3p
15.——;pF 1, —3
(p — 1)2 P
16 °. 0
Lesson 11.4 2
Level A 7. ——wF 2
w—2
1 8 0 7
LT X
x 18.—qF2
q-—2
L 252#0 y*
’ 2l 19, ——y#0,—1,—2,—4
+Dy+4
. 5 )
3 3.—xF0 20. 60 joules
5 2x
£ +7
2 a.2mymF 0 21. X joules; x # x4, —6
o x—4
= 9
b 5. 3xF 0
s x
: 12
2 —mFO0
€ 3m
£ 7. in#F —2,—3
8 3
o 3
b= 8 sx F X2
2 4(x + 2)
3 3 k
9. #0 ;
2y y i
~1
10.—;nF0 i
@ 4n
Algebra 1 Practice Masters Levels A, B, and C 379




Answers
M»f””‘\\

Lesson 12.1 7/ Lesson 12.1 /
Lesson A Qs;irlj//

1.9 1. -

2. -7 2. —3.16

3. %16 3. 2490

4. 30 4.15

5. 11V5 5. —0.35

6. —5V2 6. 1.00

7.=9V3 7. t%*

8.2\V11 8. legs‘\/j?gl

9.2V2 z*

10.4V2 > a—3|

11.5V3 Vi

12. 6\V/2 " »*

13.7 11. 2a°|b°|\/2ab
14,3 12. 4p° f®

15. 11 13.4\/7

16. 9 14.3V4 + 5

17. 4 15. —5V/3 + 4
18.9 16. —7V11 —10
19. 6 17.V2 — 8V3
20. 12 18.V3 - 2V5 + V7
21.2V3 19.2\/3 — 14
22.2V6 20. —8\/5 — 24
23.5V/3 21. —14V2 — V10
24.7\/2 22. —42

25. 6 23. —4\/7 + 56
26.5 24.18V6 — 24

27. 4 25. —4\/5 — 16
28.9 '
384 Practice Masters Levels A, B, and C Algebra 1
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Answers
L-12-1 @&
26.—2V3 +5 21. False
27. 47 22. True
28. ~8V/5 +21 23. True
20.—6\/7 + 16 24. False
o7 Lesson 12.2
Lesson 12.1 Lesson A
Lesson C Lx=2
1.14.14 2 = —55
2. £9.95 3.x =21
3. —0.41 4 x =10
2 5.x = 12
N 6.x = —40
5.9\/7 o6
6.15\/3 — 6V2 oo
’ \/E N \/§ 9.x =2
2 10.x =3
* _\/5 1"M1.x=9
10.9 :
11.11 + 6V3 12.x =7
SR N
13.24 +3V2 — 8V7 — V14 9
14 18V2 — 60V/3 — 10V5 + V30 14.x= —1
15.37 — 20V3 e 32
16. —215 + 60\/7 570
L Tl6 + 18\/5 16. x = —9—
18. —98\/3 + 42V15 -
19. 15 feet Y
20. 11.18034 meters ox = 15\/3
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